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THE SCHOLAR HIGH SCHOOL

SUBJ_ECT— MATHEMATICS

TIME- 2

2 HOURS

Maximum Marks: 80

Answer to this paper must be written on the paper provided separately.

You will not be allowed to write during the first 15 minutes. |

ThlS tlme to be spent in reading the queshon paper.

The time given at the head of this Paper is the time allowed for writing the answers

- All working, including rough work, must be clearly shown and m
sheet as the rest of the answer.

Attempt all queslions from section A and any four questions from section B

Omission of essential working will result in-loss of marks.

Mathematicat tables are provided.

ust be done on the same

The intended marks for questions or parts of questions are given in brackets [ ]

~
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QUESTION-1

(Attempt all questions from this section)

SECTION- A (40 MARKS)

eN‘%:\\ :m \l\\\a‘a‘ﬂ* “\u’\
) W
5 - 3 2 L \ w’*’*‘"‘“”m
(a) Given A={ : B= and C= W%
2 o 4 o o]
Find the matrix X such that A+X = 2B+ C (3)
(b) Using the properhes_,’of proportion, solve the following equation for X,
- x+3x _ 341 (3)
iven
3%+1 91
(c) The mean of the following frequency d:stnbuhon is 57.6 and the sum of aII the frequenqes
is 50.FInd the values of p and q. (4)
Class 0-20 20-40 40-60 60-80 80-100 100-120
Frequency | 7 P 12 q 8 5 N
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- QUESTION-2

9%p.a
(8) Mohan deposits 3 1600 per month in a cumulative account for 3years G the rate Of OP
simple interest .Find lhe amountMohan will get at the lime of malunty

e (3)
3 d
(b) Determine the ratio in which X axis leldes the line segment JO'mng the pomts A (2 2). i
B (3, 7).Also find point of intersection. \ e .(3) 7

0
(c) In the given fi igure, QAP is the tangent at point Aand PBD is a slrarght 1|ne h‘tACB- 36
and ZAPB = 427 Find (i._BAP (ii)zABD (i) ZQAD (iv) £BCD.

oef! e

(4)

QUESTION-3

(a) Prove the following :
' fan A+sind _secA+1 ).
tanA—-sinA secA-1 - . .

(b) Find what length of canvas 2m in width is required to make a conical tent 20m in diameter
and 42m in slant height allowing 10% for folds and stitching .Also ﬁng the cost of the
canvas at the rate of{BO per meter . - (3)

(c) The point P(3 4) is reflected to P’ in the x axis and O'is the image of O in the line PP’ find :
(1) The co—ordinates of P' and O'. ;

(i) The length of the segment PP’ and OO".
(iif) The perimeter of the quadrilateral POP'G!

(iv) What is the special name of the quadrilateral POP'0"? (4)
QUESTION-4 | LI | |
a) Solve the inequation and represent the solutron set.on lhe umber line.
-3+x<8?+2<? +2x, Where xe T Frwi o | NG
--b)..(b) _Solve the equation 3x’ +5x — 9 = 0.Give. your answer correct to two decimal plg;es.

c) The three vertices of a parallelogram taken i in order are A (-1, 0) B(3,1) and C (2, 2).
a. (i)Find the co-ordinates of the fourth vertex D. |
b. (ii)Find the equation of side BC of the parallelogram ABCD (4)

Page 2 of §

Scanned by CamScanner



. Ql@ﬂo_u
’ 1) Wl St 1Y

(a) Prove that (5‘444) is & factor of S2E=3&54-Hence faclo\ise the given polynomial completely
_ (3)

(b) Mukul investsT 4500 in 8%, 10 shares at#15 .He sells the shares when the price rise: toF 30,
and invests the proceeds in 12 %3100 shares atg125. Calculate: ()the sale proceeds (iijthe
number of 125 shares he buys (jii) the change in his annual income from dividend.

(3)

(¢) Using ruler and compasses only, construct a - ABC in which BC= 6cm, LB- 45° and (C = 60°

Draw the circumcircle ofA ABC and measure its radius. . -(4)
QUESTION-6 |
] - 2 ,'
(@) IfA [ 5 ﬂ and B= [:l 56] find the value of x, given that A% = (3)

(b) The fourth term of an A.P. is equal to 3 times the first term and 7™ term excesds twice. the
- third term by~1 .Find the first term and the commen difference. A
(3)
(c) In the given figure DE i BC and AD; DB 5:4
Area ofADOE
a ofA\COB

F’nd (i) DE: BC (i) DO: DC (ifl) — (4)

| *C
'QUESTION-7 e - Lot BT o

(a) Cards marked wnh all two dlglt numbers are placed in a box and are mixed thoroughly. One
card is drawn at random. Find the probability that the number on the card is (i) divisible by 10

(i) a perfect square number (iii) a prime number less than 25 .
(3)

(b) Use ruler and compasses only, construct aA ABP such that AB=5cm, BP=3cm and
ZABP=30°. Locate a point Q such that (i) Q'is equndxstant from A and B.(ii) Q is equidistant

from AB and BP. } 4 3
(c) By mcreasmg the speed of a car by 10km/hr, the time of journey for a dustance of 72km is

reduced by 36 minutes. Find the original speed of the car. . (4) -
JUESTION-8

- .13 ki e R d .
(a) The sum of three numbers in G.P is.i—z- and their product is -1. Find the numbers.
(3)

(b) A model of the ship is made 1o a scale of 1:160.
Find: (i) the length of the ship, if the length of its model is 1.2m.
(ii) The area of deck of the ship, if the area of the deck of its model of 1. 2m

(iii) The volume of the ship, if the volume of its model is 1. 2m (3)

(c) The surface area of a solid metallic sphere is 1256cm2 Itis melted and recasl inlo solld
right circular cones of radius 2.5 cm and height 8cm. Calculate: (i) the radius of the solid

sphere (ii) the numbers of cones recast. AMBIKA BOOK DEP ot (4)
$hop No. 1, Rangoll, Vasant Utsav, page3 of 5
Thakur Village, Kandivali (E), ]
[~ " Mumbai - 400 101.

Hob. 9621263050,
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QUESTION -8 5 il 57{7Aan y
SURAIY, s aieat poINt 8 5
- {8} A straight line passes through'the points P(-1,4)and Q (5.-2).It ,ntersectsxax !fslmep(n)meco'
- yaxis al point B.M is memldﬁofﬁlejhehne 'segment AB. Find (i) the ﬁquaFJP{’i < g Ay e
 ordinates of point A and B (i) the co-ordinates of point M. e

-7 (b)In the given figure, straight lines'’AB and CD pass through the centre O of the carc'? R

£ OCE = 40° andZA0D = 75, findZ.CDE andZOBE. 2(3)°
S .ova?\g;,
WP et
“ AL * A =
RO L A
T Qe e
m‘ﬁﬁlﬂ R TN |

(e)Two poles. of equal‘ heights are standing opposite to each other on either side of the road
which is 80m wide. From a point between them on the road, the angles of elevation of the top of

the poles 60° and 30° resbectively. Find the height of the poles and the distances of the point
from the poles. P - (4)
QUESTION -10 |
(a) Find the value of K for which the following equation has real and equal roots:
(k-12)x% +2(k-12)x+2 = 0. (3)
(B} Proveiliefovowing: cosec A—cotA sinA  sinA cosecA+cotA
(c) At a shooting competition the scores of a competitor were as given below:
No. Of shots | O 3 6 4 7 5
i.What was his model score?
~.ii. What was his median score?
' _iii.What was his total score?
iy What was his mean * score? _ ' (4)
QUESTION-11

(a) The product of first three terms of a G.P is 1000. If 6 is added to its second term and 7 add -
to its third term, then the terms becomes in A.P. Find the G.P. (4)
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. 7" (b) Draw ogive for the following disfribution : -

1100-

1200- w
: 1300

i. The median income

ii. The number of worker whose income exceeds 1180
jii. The lower quartile and the

iv. The interquartile

'upper quartile

Monthly income | 600- | 700-800 | 800600 | S00- 1000-
W G 700 SN 4000 1100 {1200
| No. Of worker 40 (86 ' |86i 120 so |40 126 \
| | AMBIKA BOOK DEPOT
From the graph determine: shop No. 1, Rangolf, Vasart /5<%
E Thakur Village, Kandivali (E),

Mumbai -400101.
Mob, 9824283050
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